Math 109  Quiz  5   Practice     with answers
Section 2.1

  1.   Is the ordered pair (1,2) a solution of the equation
           y2 + x = 5.   Explain why or why not.
       It is a solution since if you let x=1 and y=2 in the given expression, it gives an correct equation.  That is, 22 + 1 = 5

is true.
2.   Find the x and y intercepts of   3x-2y = 9
       The x intercept is 3 and the y-intercept is -9/2.

3.   Draw a rough sketch of  y = 3-x2  by plotting points when x equals  -2, -1, 0, 1, and 2
  The points to plot are (-2,-1), (-1,2), (0,3), (1,2) and (2,-1).
     (plot not done here)

Section 2.2

1.   Find the slope of the line that passes through the 

 points (2,5) and (6,0).

                  -5/4

2.   Find the equation of the line with slope 4 and passing through (2,-1).

               y = 4x - 9

3.  Find the equation of the line with y-intercept 2 and parallel to the line  y+5x = 7.

           y = -5x + 2
